X -EERRAIR AN (202447 AK]
BAZE EAEE
XEE |HEFFRS
sro-28| E2A (praa|DORR W | Faa (muss|TOER XA
= AEE#| SEH = == RsEH| SEH
diEeE [dbiEE 88 1,469 204 1,761 1,761 60 50 110 110
EE[3 BHRE 2 110 14 126 1,867 5 6 11 73
a2F8 3 142 34 179 1 6 7
= 50 884 151 1,085 13 23 36
AR 3 112 26 141 1 5 6
- 0 72 4 76 1 5 6
| 2R 5 213 42 260 2 5 7
5B E 31 32 1,022 121 1,175 18,988 5 8 13 518
N 8 265 45 318 3 5 8
HER 5 189 67 261 5 2 7
BEE 104 1,809 169 2,082 18 13 31
FER 145 1,960 176 2,281 15 15 30
B 561 7,907 479 8,947 255 105 360
HEIIE 222 2,771 263 3,256 23 19 42
aEe 10 436 83 529 17 7 24
MET: 7 104 28 139 2 1 3
thEp EWLE 4 160 66 230 3,760 4 1 5 95
IR 11 274 82 367 7 4 11
EHFE 8 195 28 231 1 2 3
I B IR 11 383 66 460 7 4 11
Ea[E 2 7 284 10 301 4 2 6
ZHE 77 1,590 355 2,022 29 26 55
| = 4 135 10 149 2 2 4
E5Fi =HE 2 110 12 124 5,720 1 4 5 141
#ER 13 188 33 234 2 3 5
REBAT 50 554 207 811 2 4 6
KBRAF 78 2,555 229 2,862 72 21 93
EER 72 1,171 117 1,360 18 8 26
=pa 13 190 18 221 2 0 2
| LR 2 99 7 108 1 3 4
thE EHRE 5 82 45 132 1,762 1 4 5 64
BiEE 1 106 17 124 0 4 4
ALY 7 242 48 297 6 4 10
LEER 28 789 107 924 17 23 40
=]} 8 189 88 285 2 3 5
DE]ES] mER 13 173 49 235 1,025 7 4 11 61
FII2 15 311 26 352 16 12 28
ZRE 7 205 46 258 4 7 11
| S8 9 137 34 180 3 8 11
mE [ERE 59 1,131 336 1,526 2,645 20 28 48 96
EER 3 72 38 113 3 2 5
RizE 4 96 57 157 3 2 5
REXRER 1 179 82 262 5 6 11
AR 1 107 27 135 6 1 7
=iFE 4 87 44 135 5 1 6
BEREBE 2 148 50 200 4 7 11
HEER 4 93 20 117 0 1 1
XA 0 0 2
&5 1,768] 31,500 4260] 37528] 37528] 680 476 1,158 1,158
XERIO2EIE. AN A ERBERAED TEBLSEM. THELZEERMATSEN (ERk25F58 OMAIREIZELS)
| Favay | 6] 100] 11] 117] 117]- |- [- |-
(N) MEFENESEH
10,000
9,000
8,000
7,000
6,000
5,000
4,000
3,000
2,000 ‘
1,000
0 niulln | -- I I o m o= W I [ A N - W om - W -
EREBN RS BN ARSNEEA L LWEE RS EEEEATE N
LN SEmMAMEFERRERREE LS DS EDEE SRS SRR
%%%%%%%%%mﬁ%%$%%%%%%%%%%%%%%%§%
BEARE mEARE




